Philosophy: Basic Questions; 
Worksheet on Descartes, Meditations on First Philosophy, Meditations II and III
Meditation Two:

1. The fourth class of beliefs (really just one belief) that Descartes doubts is that God exists.  What reason does he give for doubting this belief?

2. Descartes at last arrives at one belief that he cannot doubt.  What is this?  What is his argument for the indubitability of this belief?

3. What does Descartes argue that he cannot know about himself?  What does he argue that he can know about himself?  What are his arguments for these conclusions?

4. In the second half of Meditation Two, Descartes describes observing a melting piece of wax.  This description is aimed at concluding what permits us to call it the same piece of wax through all of the changes it undergoes as it melts.  What does he argue remains the same in the wax?  

5. Descartes concludes Meditation Two by asking which faculty of the mind it is that knows what remains the same in the wax through all of the changes it undergoes as it melts.  Which faculty is this?  What argument does he give for this conclusion?  (Note that part of his argument uses the process of elimination.)

Meditation Three:

After reviewing the course of his meditations so far, Descartes recalls that the basis for doubting the “matters that seemed most evident” – such as the apparent truths of arithmetic and geometry – was that there might be “a God who is a deceiver”.  In order to assure himself of these truths, he then sets out “to remove even this basis for doubt” – that is, to prove that God exists and is not a deceiver like the evil genius.  The crucial premise in his argument is “Now it is indeed evident by the light of nature that there must be at least as much [reality] in the efficient and total cause as there is in the effect of that same cause”, and that “this is manifestly true not merely for those effects whose reality is actual or formal, but also for ideas in which only objective reality is considered.”  In his example, “there can be in me no idea of heat, or of a stone, unless it is placed in me by some cause that has at least as much reality as I conceive to be in the heat or in the stone.”  

This requires some unpacking:  

First, something’s “actual, or formal, reality” is the degree to which that thing itself is perfect.

Second, only representations, such as paintings, photographs, or ideas in the mind, have “objective reality”.  The objective reality of a representation is the degree to which the object that it represents is perfect, whether or not that represented object exists.

For example, the objective reality of a picture of a car is identical to the actual, or formal, reality of a real car.

Given these definitions, Descartes’ crucial premise says that a representation must be caused by something at least as perfect as what the representation represents.

6. With this premise in hand, Descartes then proceeds to examine all of his ideas, to see whether there are any whose objective reality is so great that Descartes himself could not have been their cause.  Of these ideas, the only one that Descartes is not perfect enough to have caused is his idea of _________________ , defined as the _________________ being.

7. Do you accept Descartes’ “crucial premise”, as stated above?  Try to think of the best counterexample you can to his claim that a representation (such as an idea, picture, or photograph) must be caused by something at least as perfect as the object it represents.  In other words, can you think of a representation that’s caused by something less perfect than what that representation represents?  

8. Is Descartes’ argument for the existence of a non-deceiving God guilty of the logical fallacy of “begging the question”, i.e., of assuming what it set out to prove?  In other words, does Descartes at some point assume as a premise of his argument his conclusion that God actually exists?  Explain.

